Name: Score:

4 (Multiplication Dr“

5 X6 = 3 X9 = 9 x 2 = 8 X1 = 1 x10=
6 X 2 = 1 X4 = 10 x 7 = 7 X5 = 5 X 3 =
4 X 10= 6 X 3 = 1 X 8 = 3 X 2 = 4 X 4 =
3 X7 = 10 X 3 = 5 X 2 = 10X 6 = 6 X5 =
8 X 9 = 7 X7 = 7 X 1= 2 X5 = 8 X7 =
9><4= 4 X 1 =
2 X7 = 9 X 9 =
0% 5 — Gain .complete access tq the larggst 3w 6 =
collection of worksheets in all subjects!
7 X3 = 4 x5 =
6 X 4 = Not 2 member? 3x 1=
P’ease$
4% 8 = gn up to 10x 4 =
9ain complete
2 x 2 = access, 1x2 =
3 X 4 = 3 X 3 =
www.mathworksheets4kids.com
1 X5 = 8 X5 =
10 X 10 = 6 X 1 =
6 X 9 = 3 X 8 = 2 X10= 8 X 6 = 9 X 8 =
5 X 4 = 8 X 4 = 4 x 3 = 10X 9 = 8 X 2 =
7 X 2 = 10X 2 = 8 X 8 = 6 X 7 = 4 X 6 =
2 X 3 = 7 X 6 = 4 X 9 = 8 X5 = 6 X5 =
N\ J

Printable Math Worksheets @ www.mathworksheets4kids.com



Name: Score:

Answer Key
e (Multiplication Dl‘iI

5x6 = 30 3 X9 =27 9 X 2 18 8 X 1= 8 1 x10= 10

6 X 2 = 12 1xXx4= 4 10x 7 =170 7 X5 35 5Xx3 =15
4 x10= 40 6 X3 =18 1xXx8= 8 3X2= 6 4 x4 =16

3x7=21 10 x 3 = 30 5% 2

[l
-
o

10 X 6 = 60 6 x5 =30

8 X9 =72 7 X7 =49 7 X1 =17 2 X5 10 8 X 7 = 56

9 x4 = 36 63 4 x1= 4

| PREVIEW [+ -

2x7= 14 50 9 x 9 = 81
0% 5 - 50 Gain .complete access tq the larg(?st 8 3x6- 18
collection of worksheets in all subjects!

7 x 3= 21 12 4 x5 =20
6 X 4 = 24 Nofamember? 9 3x1= 3

Please
4% 8= 32 L3S N s 10x 4 - 40
dain complete
2x2= 4 access, 45 1x2= 2
3 X 4= 12 40 3xXx3= 9
www.mathworksheets4kids.com
1x5= 5 30 8 X 5= 40

10 x 10=100 2 X9 =18 5x5=25 1xXx3= 3 6 X1 = 6

6 X 9 = 54 3 X 8= 24 2 Xx10= 20 8 X 6 = 48 9 x 8 =72

5x 4= 20 8 X 4 = 32 4 X 3

12 10 X 9

20 8 X2 =16

7 x 2= 14 10x 2 = 20 8 X 8 64 6 X 7 42 4 X 6 = 24

\2><3= 6 7 X6 =42 4 X 9 = 36 8 X5 =40 6 X 5= 30
J
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